2/21/2014 12:41 PM

INSTALLATION NOTES:

1.

ONE (1) INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR
LOCATION SHOWN UNLESS OTHERWISE NOTED.

2. THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE ACADIAN
MINIMUM NUMBER OF ANCHORS TO BE USED FOR PRODUCT TN MR
INSTALLATION. ACADIAN IRON WORKS

3. INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A O l ,TE ; WIN( ; WRO ‘ ,( ;H T IR ON D O OR E ; B RO ATzt

TOLERANCE OF +1/2 INCH OF THE DEPICTED LOCATION IN THE _ ' )
ANCHOR LAYOUT DETAIL (L.E., WITHOUT CONSIDERATION OF Pri(eep) a0 zlye X Oraizas el
TOLERANCES). TOLERANCES ARE NOT CUMULATIVE FROM ONE ©
INSTALLATION ANCHOR TO THE NEXT. £ @
S oRs §

4. SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD a3y Zo8 3
BEARING SHIM(S). MAXIMUM ALLOWABLE SHIM STACK TO BE & 8 gk Se X
1/4 INCH. SHIM WHERE SPACE OF 1/16 INCH OR GREATER SAES Na |8
OCCURS. SHIM(S) SHALL BE CONSTRUCTED OF HIGH DENSITY 9z52 ogF™ &
PLASTIC OR BETTER. GENERAL NOTES: '§ SEr: & 2zt

M
n 2 .- [G) an <<

5. FOR INSTALLATION THROUGH STRAP INTO 1X BUCK TO 1. THE PRODUCT SHOWN HEREIN IS DESIGNED AND TABLE OF CONTENTS 2 25 18 2<4 2
CONCRETE/MASONRY, OR THROUGH STRAP DIRECTLY INTO MANUFACTURED TO COMPLY WITH THE 2010 FLORIDA 8 D 5 E = i
CONCRETE/MASONRY, USE (2) 1/4" ITW TAPCONS PER BUILDING CODE (FBC), INCLUDING HVHZ AND HAS BEEN SHEET |REVISION SHEET DESCRIPTION w <= &

7 . .. D fon)

INSTALLATION STRAP OF SUFFICIENT LENGTH TO ACHIEVE 1 1/4 EVALUATT%/;SE?%ED'NG TO THE FOLLOWING: a £ 5 LS 3
INCH MINIMUM EMBEDMENT. . - o o 2
e TAS 202-94 1 - INSTALLATION & GENERAL NOTES E w @ R

6. FOR INSTALLATION THROUGH STRAP INTO 2X BUCK USE (4) #14 e TAS203-94 2 - ELEVATION AND ANCHOR LAYOUT - SP1 o i
WOOD SCREWS PER INSTALLATION STRAP OF SUFFICIENT w
LENGTH TO ACHIEVE 1 1/2 INCH MINIMUM EMBEDMENT INTO 2. égi%gé‘f;ﬁggﬁl:é'iﬂgg;?;‘/i%%?ks A MAIN WIND 3 - ELEVATION AND ANCHOR LAYOUT - SP2 E
WOOD SUBSTRATE.

FORCE RESISTING SYSTEM CAPABLE OF WITHSTANDING AND 4 - ELEVATION AND ANCHOR LAYOUT - SP3 a)

7. FOR INSTALLATION THROUGH STRAP INTO METAL STUD USE (4) ISGN%F:TRI’S"\\I‘?SATZPELEESgggg’gﬂ%%‘ﬁgggﬁgmﬁp{ oR 5 - ELEVATION AND ANCHOR LAYOUT - SP4 -
1/4" SELF-TAPPING SCREWS PER INSTALLATION STRAP OF )
SUFFICIENT LENGTH TO ACHIEVE 2 THREADS MINIMUM ARCHITECT OF RECORD FOR THE PROJECT OF INSTALLATION. 6 - ELEVATION AND ANCHOR LAYOUT - SP5 Ny
PENETRATION BEYOND METAL FRAME SUBSTRATE. _ j

3. 1X AND 2X BUCKS (WHEN USED) SHALL BE DESIGNED AND 7 ELEVATION AND ANCHOR LAYOUT - SP6 Z

8. FOR INSTALLATION THROUGH THRESHOLD/SIDELITES AT SILL ANCHORED TO PROPERLY TRANSFER ALL LOADS TO THE 8 - VERTICAL SECTIONS
INTO 2X BUCK, USE (1) #14 WOOD SCREW PER LOCATION OF STRUCTURE. BUCK DESIGN AND INSTALLATION 1S THE @)

’ RESPONSIBILITY OF THE ENGINEER OR ARCHITECT OF RECORD 9 - VERTICAL SECTIONS z

SUFFICIENT LENGTH TO ACHIEVE 1 1/2 INCH MINIMUM FOR THE PROJECT OF INSTALLATION —~ 8
EMBEDMENT INTO WOOD SUBSTRATE. ‘ 10 - VERTICAL SECTIONS & 6LAZING DETAILS Vp) =
4. THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC o

9. FOR INSTALLATION THROUGH THRESHOLD/SIDELITES AT SILL AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC u - HORTZONTAL SECTIONS g P,
INTO CONCRETE ONLY, USE (1) 1/4" ITW TAPCON PER LOCATION SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE 12 - HORIZONTAL SECTIONS T ol
OF SUFFICIENT LENGTH TO ACHIEVE 1 3/4 INCH MINIMUM FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED w
EMBEDMENT. ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC 13 - STRAP INSTALLATION GUIDELINES (a4 W=

DOCUMENTS FOR USE WITH THIS DOCUMENT IN NON-HVHZ i
10. USE 3/8" WASHERS WITH ALL INSTALLATION FASTENERS. AREAS. IN HVHZ AREAS, ONE TIME PRODUCT APPROVAL TO 14 COMPONENTS & BILL OF MATERIALS
BE OBTAINED FROM MIAMI-DADE PERA. 15 - COMPONENTS (CONTINUED)

11. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL
FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO, FOAM, 5. APPROVED IMPACT PROTECTIVE SYSTEM IS NOT REQUIRED
BRICK VENEER, AND SIDING. ON THIS PRODUCT IN AREAS REQUIRING IMPACT RESISTANCE.

12. INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE 6. DOOR MATERIAL: Q235 GRADE STEEL e
MADE OF CORROSION RESISTANT MATERIAL OR HAVE A e Fymin=34.1KS|
CORROSION RESISTANT COATING. e Fty min=54.4 KSI DESIGN PRESSURE RATING

e ©
'\_

13. FOR HOLLOW BLOCK AND GROUT FILLED BLOCK, DO NOT INSTALL 7. STEEL COMPONENTS SHALL BE COATED OR PROVIDED WITH SPECIMEN | DESIGN PRESSURE - ALL SIZES | MISSILE IMPACT RATING %ﬁ__(
INSTALLATION ANCHORS INTO MORTAR JOINTS. EDGE DISTANCE CORROSION RESISTANCE PROTECTION IN CONFORMANCE 5%
IS MEASURED FROM FREE EDGE OF BLOCK OR EDGE OF MORTAR WITH THE MATERIAL PROTECTION PROVISIONS OF FBC §§
JOINT INTO FACE SHELL OF BLOCK. SECTION 2220. x LARGE & SMALL MISSILE g
ALL +70/ -70 PSF IMPACT RATED T

14. INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE 8. ALL EXPOSED STEEL COMPONENTS ARE SHOP PRIMED.

WITH ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS,
AND ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH 9. IRON WORK SUCH AS DECORATIVE GRILLES, ETC. IS NOT PART *UNITS MEET WATER INFILTRATION REQUIREMENTS AT WATER TEST
STRENGTHS LESS THAN THE MINIMUM STRENGTH SPECIFIED BY OF THIS APPROVAL. PRESSURE OF 105 PSF.
THE ANCHOR MANUFACTURER.
10.GLASS MEETS THE REQUIREMENTS OF ASTM E 1300-04
15. INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HEREIN ARE GLASS CHARTS. SEE SHEET 10 FOR GLAZING DETAILS.
BASED ON SUBSTRATE MATERIALS WITH THE FOLLOWING
PROPERTIES:

A. WOOD - MINIMUM SPECIFIC GRAVITY OF 0.55.
CONCRETE - MINIMUM COMPRESSIVE STRENGTH OF 3000 PSI.

Digitally signed by Hermes F. Norero, P.E.

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

B.

C. MASONRY - STRENGTH CONFORMANCE TO ASTM C-90.

D. STEEL - MINIMUM YIELD STRENGTH OF 33 KSI. MINIMUM
WALL THICKNESS OF 49 MILS (18 GAUGE).

Reason: | am approving this document
Date: 2014.02.21 12:38:48 -05'00'

SHEET: 1 OF15




2/21/2014 12:41 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

ACADIAN

IRON WORKS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

[o o]
£ Q3
S % SR
o Q3
Bt Bee| 58]
T 76O Lo Max 12" MAX. . $Q33 RN
PANEL MAX. v : FROM | | ! 105 @Do S Saxx 2
—t widptH 35795 7= WIDTH |=—— CORNERS MAX. O.C. CAMLOCKS AT ZZP < O3 = x
23.984 CENTERLINE gg < AT -
= B Fl F3 E3 H >
BlOF OB E OE CAMLOCKS 0 0 | © @ S e
3" MAX. FROM E oS Ja Z52 3
- - - 7 CORNERS O < |2 ao0<3 g
W <5 o
A b q // (R /// b q ] ) o H D < <
o o 1 = § 8 wo g
NG F G RPe” S
= g
p q p q
CAMLOCKS e
20.5" MAX. O.C. <
Pa)
/‘\ b q m T K b q HH
H m Hopp a
11 11 11
Uy TANEL bLo. Max NG o NG NG o v
HEIGHT HEIGHT ';'gf;'; X' P lg "X 40" MAX. O.C. X' rlg "x Z
144.000" 141.000" :
b d X IE b d _‘ sve9) H CZ)
SASH HINGES 0Nl e
18.875" MAX. O.C. -l =
b q b q > E
SASH HINGES Tt ]
" MAX. FROM w
" " CORNERS (a4 KA
AR 4 12 MAX_FROM | ] P11 /e
v | | v CORNERS (R /I | - =

ya
5 ] _
SASH HINGES
2" MAX. FROM — Z |
CORNERS RO
(4) SURFACE BOLTS 1 ANCHOR THROUGH THRESHOLD Q&

AT EACH SURFACE BOLT LOCATION

SUl

ELEVATION ANCHOR LAYOUT
SPECIMEN 1

ombft\ PE NS,
ANI® BEACH, BLAVB.S
BEACH, FLORIDA

HARDWARE NOTES:

1. EACH ACTIVE PANEL SHALL UTILIZE FOUR (4) 6" X 1" STEEL BARREL HINGES BY INSTALLATION NOTES:
NATURAL CHOICE IRONWARE. 1. STRAP ANCHORS SHALL UTILIZE FOUR (4) #14 WOOD SCREWS, (2) 1/4"

2. HINGES ARE TO BE LOCATED AT 14.5" FROM BOTTOM OF DOOR AND 37.25" TAPCON, OR (4) 1/4" SELF-TAPPING SCREWS TO BE FASTENED TO SUBSTRATE.
MAX. O.C. THEREAFTER. 2. INSTALLATION ANCHORS SHALL UTLIZE 3/8" WASHERS.

3. CAM LOCKS AND SASH HINGES ARE TO BE LOCATED AS SHOWN ON ANCHOR
LAYOUT AT RIGHT.

SHEET: 2 OF 15




2/21/2014 12:41 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

UNIT MAX.
WIDTH 76.000"

_ 1, PANELmMAX. | _, D'\';\'/?D"QC‘X' o
WIDTH 35.795 23984

/— R58.14"

UNIT
MAX
HEIGHT
144.000"

— % /— R66.17"
A //A b ‘Z\

D

PANEL DLO. MAX L {od
HEIGHT ;IIEZI?;{;; e NG
141.000" :

[ve)

\— STITCH WELDS

AROUND KICKPLATE
PERIMETER

o]

ELEVATION
SPECIMEN 2

HARDWARE NOTES:

1. EACH ACTIVE PANEL SHALL UTILIZE THREE (3) 6" X 1" STEEL BARREL HINGES
BY NATURAL CHOICE IRONWARE.

2. HINGES ARE TO BE LOCATED AT 14.5" FROM BOTTOM OF DOOR AND 54.00"
MAX. O.C. THEREAFTER.

3. CAMLOCKS AND SASH HINGES ARE TO BE LOCATED AS SHOWN ON ANCHOR
LAYOUT AT RIGHT.

o CAMLOCKS AT
CORNERS CENTERLINE
CAMLOCKS
" MAX. FROM
CORNERS
p q ‘
CAMLOCKS
215" MAX. O.C.
P Oﬂ
IIXII llxll
36" MAX. O.C. SASH HINGES
22.75" MAX. O.C.
P q
— ] |
SASH HINGES
— 7" MAX. FROM
CORNERS
7488 7%
J— i
12" MAX. FROM
CORNERS K4 e
v
1 3" i SASH HINGES
2" MAX. FROM —
CORNERS
(4) SURFACE BOLTS 1 ANCHOR THROUGH THRESHOLD

AT EACH SURFACE BOLT LOCATION

ANCHOR LAYOUT

INSTALLATION NOTES:

1. STRAP ANCHORS SHALL UTILIZE FOUR (4) #14 WOOD SCREWS, (2) 1/4"
TAPCON, OR (4) 1/4" SELF-TAPPING SCREWS TO BE FASTENED TO SUBSTRATE.

2. INSTALLATION ANCHORS SHALL UTLIZE 3/8" WASHERS.

ACADIAN

IRON WORKS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

TITLE: GUTSWING WROUGHT

IRON DOOR

ELEVATION AND
ANCHOR LAYOUT - sP2

FX: (954) 744-4738

QBUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

PH: (954) 399-8478

PREPARED BY:

%)
Z
O
H
V)
H
=
L
(a4

BY | DATE

Z
o
E
a
H
o
O
0
w
Ja)

R RRAL)

% BEACH, BB, SUI
BEACH, FLORIDA

o

SHEET: 3 OF 15




2/21/2014 12:41 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

UNIT MAX.
WIDTH 76.000"
PANEL MAX. D.L.O MAX.

— W =t WIDTH |=—
WIDTH 35.795 23.993"

UNIT
MAX
HEIGHT
144.000"

— /—R38.014"
g=tl[}

A
9 o // | ——R29.979"

7 A
KE

AN

o
o

A 1N Hom
1 1 11
PANEL ) 0. max NGV o N NG
MAX
HEIGHT
HETGHT ‘D270 L | o
141.000" . ||X|| llxll

W

ELEVATION
SPECIMEN 3

HARDWARE NOTES:

1. EACH ACTIVE PANEL SHALL UTILIZE THREE (3) 6" X 1" STEEL BARREL HINGES
BY NATURAL CHOICE TRONWARE.

2. HINGES ARE TO BE LOCATED AT 14.5" FROM BOTTOM OF DOOR AND 41.50" MAX.
O.C. THEREAFTER.

3. CAMLOCKS AND SASH HINGES ARE TO BE LOCATED AS SHOWN ON ANCHOR
LAYOUT AT RIGHT.

2" MAX. CAMLOCKS AT
FROM —=] CENTERLINE
JAMBS CAMLOCKS
" MAX. FROM
CORNERS
o W W f
[ 4 9 eees]
CAMLOCKS
245" MAX. OC.
(]
p q
175" MAX. O.C. "X "X
L] SASH HINGES
21" MAX. OC.
!
SASH HINGES
" MAX. FROM
‘ . CORNERS
ey Y Y ey
12" MAX. FROM l s ann - 4 e
CORNERS [ =

ANCHOR LAYOUT

INSTALLATION NOTES:

1. STRAP ANCHORS SHALL UTILIZE FOUR (4) #14 WOOD SCREWS, (2) 1/4"
TAPCON, OR (4) 1/4" SELF-TAPPING SCREWS TO BE FASTENED TO SUBSTRATE.

2. INSTALLATION ANCHORS SHALL UTLIZE 3/8" WASHERS.

ACADIAN

IRON WORKS

ACADIAN IRON WORKS
2805 ST. CHARLES AVE.

MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

TITLE: GUTSWING WROUGHT

IRON DOOR

ELEVATION AND
ANCHOR LAYOUT - SP3

FX: (954) 744-4738

QBUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

PH: (954) 399-8478

PREPARED BY:

%)
Z
O
H
V)
H
=
L
(a4

Z
o
E
a
H
o
O
0
w
Ja)

BY | DATE

]
.
SASH HINGES
2" MAX. FROM —
CORNERS
(4) SURFACE BOLTS 1 ANCHOR THROUGH THRESHOLD

AT EACH SURFACE BOLT LOCATION

R RRAL)

BEACH, BLVB., SUI
BEACH, FLORIDA

SHEET: 4 OF 15




2/21/2014 12:41 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

UNIT MAX.
WIDTH 84.000"
D.L.O MAX.
WIDTH
79.625"
Vi
4 c
D.L.O. MAX
HEIGHT
38.875" "o c
jdim
1 1
D
// / LE LIV F
) 10
UNIT  PANEL P
MAX  MAX LY b 2 /L
HEIGHT HEIGHT 12 12
138.000" 92.989" N—1 b U
D.LO. MAX || "O" AN %
HEIGHT 12 12
65.089" ® ux..\-/:
& ﬁA
B B
10 s ) Wy || V
) =
\— STITCH WELDS
AROUND KICKPLATE
D.L.O MAX. PERIMETER
l~— WIDTH —
35.875"
| PANEL MAX.
WIDTH 47.683"
HARDWARE NOTES:

1. EACH ACTIVE PANEL SHALL UTILIZE THREE (3) 6" X 1" STEEL BARREL HINGES

BY NATURAL CHOICE TIRONWARE.

2. HINGES ARE TO BE LOCATED AT 14.5" FROM BOTTOM OF DOOR AND 33.75"

MAX. O.C. THEREAFTER.

3. CAMLOCKS AND SASH HINGES ARE TO BE LOCATED AS SHOWN ON ANCHOR

LAYOUT AT RIGHT.

ACADIAN

IRON WORKS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

IRON DOOR
ELEVATION AND
FX: (954) 744-4738

OUTSWING WROUGHT
ANCHOR LAYOUT - SP4

PREPARED BY:

@BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

PH: (954) 399-8478

TITLE:

12" MAX. 2gh
FROM ' |
CORNERS | | Max.o.c
W
— CAMLOCKS AT
CENTERLINE
EE IIOII / :iﬂ
4 CAMLOCKS
" MAX. FROM ‘
== | p e ’ % - CORNERS
y
19" MAX. O.C. 4 P f
CAMLOCKS J
. 7" MAX. FROM
| ¥ i B | CORNERS
SASH HINGES "o" "o" CAMLOCKS
17" MAX. OC. e e 17" MAX. OC.
t "X" P '
‘ | o R
1 # # P V=
SASH HINGES 12" WAX FROM =
2 MAX. FROM CORNERS
CORNERS f '
SASH HINGES
2" MAX. FROM — 3" TYP. FROM
CORNERS ALL SIDELITE ——| |=—

CORNERS

(2) SURFACE BOLTS

1 ANCHOR THROUGH THRESHOLD
AT SURFACE BOLT LOCATION

ANCHOR LAYOUT

INSTALLATION NOTES:

1. STRAP ANCHORS SHALL UTILIZE FOUR (4) #14 WOOD SCREWS, (2) 1/4"
TAPCON, OR (4) 1/4" SELF-TAPPING SCREWS TO BE FASTENED TO SUBSTRATE.
2. INSTALLATION ANCHORS SHALL UTLIZE 3/8" WASHERS.

BY | DATE

%)
Z
O
H
V)
H
=
L
(a4

Z
o
E
a
H
o
O
0
w
Ja)

R RRAL)

BEACH, BLVB., SUI
BEACH, FLORIDA

TET B oF 15




2/21/2014 12:41 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

ACADIAN

IRON WORKS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

o0
[ ™
% 10 . g §
S.ob| 93z
UNIT MAX S%Zé =R
WIDTH 76.000" - g£o<h5 Sae
. 0Z0 a o 4, 8
D.LO. MAX. 21 MA KDZ o > o Iruw 7
WIDTH 71.750" ' e ESE 5 2z &
;l—l S w O
R38.0(" JAMBS n Wl 92F o
'5 oo & E 5 o 3
) 2l 325 <
w < E A
C W od H-O <<
D.L.O. MAX 7 4 X Ruo 8
HEIGHT . c &p CAMLOCKS AT = w @ ® :
35875 o) AFS 8" FROM CORNERS P a3y 2z
l / CAMLOCKS
1.5" MAX. FROM L'_l_-'
|H ||/ [ corners <
J d p g fa)
W E / ) 7 e
b W d b H { >
CAMLOCKS )
UNIT  PANEL "
14.625" MAX. O.C.
MAX  MAX ° —f— °© o Vp)
HEIGHT HEIGHT
144000 103.000" FAY b [ Ho 175" MAX. O.C. P | f Z
oLo.max || [\21/ NG )/ 5
HEIGHT P | 3 Pl ] Hil £
91.197" v vt vt ygn (@]
PSR N B XX ‘ 0nle
=l B
SASH HINGES wl e
14.625" MAX. O.C. w
b kb { b f a fa]
W W J— A y / R
../ P i .,/ 12" MAX. FROM = - ‘/ b | ./ =3
CORNERS |
T )
D 1 3"_f
SASH HINGES
1.5" MAX. FROM —
D.L.O MAX ot
: COR TR
| PANELmax. | |Pen T ORNERS \ 7

WIDTH 35.795" 23.984°
3.98 (4) SURFACE BOLTS 1 ANCHOR THROUGH THRESHOLD

AT EACH SURFACE BOLT LOCATION

778,

BRACH, BAVD., SUI

i

ELEVATION ANCHOR LAYOUT
SPECIMEN 5

BEACH, FLORIDA

HARDWARE NOTES:

1. EACH ACTIVE PANEL SHALL UTILIZE THREE (3) 6" X 1" STEEL BARREL HINGES INSTALLATION NOTES:
BY NATURAL CHOICE IRONWARE. 1. STRAP ANCHORS SHALL UTILIZE FOUR (4) #14 WOOD SCREWS, (2) 1/4"

2. HINGES ARE TO BE LOCATED AT 14.5" FROM BOTTOM OF DOOR AND 40.25" TAPCON, OR (4) 1/4" SELF-TAPPING SCREWS TO BE FASTENED TO SUBSTRATE.
MAX. O.C. THEREAFTER. 2. INSTALLATION ANCHORS SHALL UTLIZE 3/8" WASHERS.

3. CAMLOCKS AND SASH HINGES ARE TO BE LOCATED AS SHOWN ON ANCHOR

LAYOUT AT RIGHT. SHEET: 6 OF 1 5




2/21/2014 12:42 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

ACADIAN

IRON WORKS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

[o o]
£ Q03
S 5| ¥$*sz3
o, Z A 3
SO0z, HE88 X
=0 <35 w23
oz (@] a. o — R
UNIT MAX. 05563 e
WIDTH 84.000" . . ZEES 237 &
2" MAX. ; &< 053
2675 SESa w
FROM ——|~— ~— WX o.C SHE0 | 02
.0.C. g > w g
R42.00" JAMBS '5 D KZ.) N E 5 o 3
3 <|gai3:
. CAMLOCK AT 5 3
/—R25.97 "o .. o H-OHD <<
7 CENTERLINE l'-i_‘J NEFEES
R17.94" w o .
&g "
| 4 5
q ‘ g
CAMLOCKS
|7 W ||... 18 max. oc. -
1 \10/ B 1 | 1 2
UNIT  PANEL /[\ 9 m S
MAX MAX - o \1-2? S "
HEIGHT HEIGHT [ e
138.000" 118.976" — ) @ Kopp ‘ Z
D'L'O. MAX IIOII 12 12 IIOII "O" "O"
HEIGHT \_/ T B P ‘ O -
106.932" . 145" MAX. O.C. von M ®]
S X i o y X e SASH HINGES 0Nl e
16" MAX. O.C. | &
4 W >\ &
7 G (B < | 1 il »
CAMLOCKS o yal
- y ] J_ p = r1.5" MAX. FROM
4 I 4 W 12" MAX. FROM “*** ) an % CORNER
T CORNERS RN f

ﬂ - f | ' ' CAM'LOCKS
v AT 12" FROM

3" TYP. FROM (2) SURFACE BOLTS CORNERS -

DLO MAX ALL SIDELITE — LLREEEY | l
|l~— WIDTH — \
35.874" CORNERS
PANEL MAX. SASH HINGE
WIDTH 48.683" 1 ANCHOR THROUGH THRESHOLD 15" MAX. FROM — .. &
AT SURFACE BOLT LOCATION CORNER %3

SASH HINGE @,a

8" MAX. FROM — _55

CORNER .§=‘

b 33

ELEVATION ANCHOR LAYOUT
SPECIMEN 6

HARDWARE NOTES:

1. EACH ACTIVE PANEL SHALL UTILIZE THREE (3) 6" X 1" STEEL BARREL HINGES INSTALLATION NOTES:
BY NATURAL CHOICE TIRONWARE. 1. STRAP ANCHORS SHALL UTILIZE FOUR (4) #14 WOOD SCREWS, (2) 1/4"

2. HINGES ARE TO BE LOCATED AT 14.5" FROM BOTTOM OF DOOR AND 36.50" TAPCON, OR (4) 1/4" SELF-TAPPING SCREWS TO BE FASTENED TO SUBSTRATE.
MAX. O.C. THEREAFTER. 2. INSTALLATION ANCHORS SHALL UTLIZE 3/8" WASHERS.

3. CAMLOCKS AND SASH HINGES ARE TO BE LOCATED AS SHOWN ON ANCHOR
LAYOUT AT RIGHT.

SHEET: 7 OF 15




2/21/2014 12:42 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

SEE GLAZING

DETAIL A \

ACADIAN

IRON WORKS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

- 8w
xI o ™
11/2" MIN. S 9 Uy 3
EMBEDMENT 3% § 258 3
CONCRETE/ MASONRY —. 23 5 van g
BY OTHERS |- ©> & ox
Z0 2 g &
(2) 1/4" ITW TAPCON —[ " 8& 3 553
L) [a1) ©
SEALANT BETWEEN —.; P A B Z<8 §
CONCRETE/MASONRY & 2X [ o ~ |&aoZ:5 ¢
WOOD BUCK BY OTHERS | i a 50% 2
2X WOOD BUCK —f" = G 2L
BY OTHERS |- 24" MIN EXTERIOR INTERIOR F 2
. |
(2) #14 WOOD SCREW —|. EDGE 2MMiren 1" LENGTH STITCH WELDS W
EXTERTOR FINISH — - DISTANCE O.A. UNIT B 7 AROUND KICKPLATE PERIMETER <
BY OTHERS N HEIGHT SPACED AT 18" O.C.
7_I/‘/| >
1 | | (2]
1/4 3MMiron — U)
PERIMETER SEALANT !
BY OTHERS MAX. DECORATIVE Z
SHIM — MOULDINGS | SURFACE BOLTS WELDED FULL
]@4 SPACE TACK WELDED L LENGTH AT SIDES OF 8
AT CORNERS il ASSEMBLY
%)
=
>
(0]
(a4

DESCRIPTION

) SURFACE BOLTS WELDED FULL
/ LENGTH AT SIDES OF
ASSEMBLY

0.A. UNIT e

HETGHT ) /@ /@@
)

L]

2 @ ]

_-;n
—

Nl I%

DR — PR
..-.. .. " 5 -.-d"'_- q.‘.-..:d-.. 13/4u MIN
e T | EMBEDMENT

DETAIL A MASONRY

BY OTHERS 212 A
1/4" ITW TAPCON DISTANCE
BY OTHERS

/A VERTICAL SECTION /B VERTICAL SECTION

WHEAD - 2X WOOD BUCK TO CONC/MASONRY \8/ SILL - CONCRETE/MASONRY

f
PERIMETER
| INTERIOR SEALANT

/| —
EXTERIOR {INT
/ \\- ¥ BY OTHERS
SEE GLAZING -

CONCRETE/

~__-"
SUI

BEACH, FLORIDA

7 BEACH, BLAD.S

—
ORAlng P-E

TET 8 oF 15




2/21/2014 12:42 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

SEE GLAZING
11/2" MIN. DETAIL A \
EMBEDMENT EXTERIOR N INTERIOR
// N
/ \
( | ®
= ]
- \ //
2X WOOD BUCK —Jii" e /@
BY OTHERS [ B
— ]
O.A. UNLT g [ SURFACE BOLTS WELDED FULL—
HEIGHT fC)mnes) LENGTH AT SIDES OF
3/4" MIN =1 20) ASSEMBLY
(4) #14 WOOD SCREWS —<{7. EDGE |
EXTERIOR FINISH —J - DISTANCE —
BY OTHERS
PERIMETER SEALANT 1/4"
BY OTHERS MAX. | ====
O.A.UNIT SHIM
HEIGHT SPAcE
* —
PERIMETER IR T .
SEE GLAZING SE AL’:ETE LU e e {13/4° MIN. EXTERIOR  /
DETAIL B BY OTHERS R EMBEDMENT /
. - \
EXTERIOR INTERIOR Cﬁﬁé’iﬂfé ? SEE GLAZING \
; DETAIL A
BY OTHERS 2 “Ef) G"é‘IN
1/4" ITW TAPCON DISTANCE

/C\ VERTICAL SECTION

\9/

HEAD - 2X WOOD BUCK

SEE GLAZING

DETALL B \

-

ACADIAN

IRON WORKS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

S~

o

BY OTHERS

/D\ VERTICAL SECTION

\9/

SILL - CONCRETE/MASONRY

/7

/

\

A
@

INTERIOR

~——

7B\ VERTICAL SECTION

\9/

DOOR-TRANSOM

IRON DOOR
VERTICAL SECTIONS
FX: (954) 744-4738

398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

TITLE: GUTSWING WROUGHT
{2} BUILDING DROPS, INC.

PH: (954) 399-8478

PREPARED BY:

BY | DATE

%)
Z
O
H
V)
H
=
L
(a4

Z
O
E
[a W
—
oL
QO
v
w
/Al

% BEACH, BB, SUI
BEACH, FLORIDA

ORAlng P-E

TET 9 oF 15




2/21/2014 12:42 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

EXTERIOR

SEE GLAZING

DETAIL B \

INTERIOR

DETAIL B

/F\ VERTICAL SECTION

\10/

TRANSOM-SIDELITE

#6 X 3/4" SMS SCREWS
SPACED 8" MAX. 0.C. >

SEE 6LAZING e
DETAILE \ p

1/4" HEAT STRENGTHENED
0.090" DUPONT SGP INTERLAYER
1/4" HEAT STRENGTHENED

9/16" O.A. THICKNESS

\\ / \‘
i | ':
\ \ / /
\ \
| \ /
0 \ /
EXTERIOR BN 7 INTERIOR \ 1744, 7
\\\\ \%&Dow 995 GLAZING
S - SILICONE
3/4" MIN. GLASS BITE
DECORATIVE =
MOULDINGS 1" LENGTH STITCH WELDS
TACK WELDED AROUND KICKPLATE PERIMETER GLAZING DETAILA
AT CORNERS SPACED AT 18" O.C.
PERIMETER
SEALANT
BY OTHERS

‘ 5/32" X 1" SMS SCREWS 1/4" HEAT STRENGTHENED

CRRREE SPACED 13" MAX. OC. _ 0.090" DUPONTT SGP INTERLAYER
ca SR PR, 1/4" HEAT STRENG THENED
EE e ] emeeDmMENT ya
3 RS / 9/16" O.A. THICKNESS
; Y ? III ‘\\
| \
21/2"
1/4" TTW TAPCON /EDGAQIN - | 4
BY OTHERS DISTANCE \ /
\
1" LENGTH STICH \ = 7
/G VERTICAL SECTION WELDS SPf\CED\
\10/ SIDELITE-KICKPLATE 8106 ™ .~ T—DOW 995 GLAZING
P L SILICONE
— = 1/2" MIN. GLASS BITE

GLAZING DETAIL B

ACADIAN

IRON WORKS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

IRON DOOR
FX: (954) 744-4738

VERTICAL SECTIONS &

OUTSWING WROUGHT
GLAZING DETAILS

PREPARED BY:

{2} BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004

PH: (954) 399-8478

TITLE:

BY | DATE

%)
Z
O
H
V)
H
=
L
(a4

Z
O
E
[a W
—
oL
QO
v
w
/Al

778,

" aéu'l,m.f Sul
w

BEACH, FLORIDA

ST 10 OF 15




2/21/2014 12:42 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

1X WOOD BUCK 21/4" MIN. 1/4" MAX.

BY OTHERS | EDGEDIST. SHIM SPACE
SEALANT BETWEEN — . —
CONCRETE/MASONRY ACADIAN
& ]-X WOOD BUCK I RON W OoORKS

BY OTHERS

CONCRETE/MASONRY
BY OTHERS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.

INTERIOR MONROE, LA 71201
8 PH: (225) 620-2176  FX: (972)243-5615

/@ INTERIOR

* / E ) § 3
@\ d o Z UHs §
11/2"MIN.  © % O—-i\ =1 §g g Eg§ E
EMBEDMENT - . & - 3.} \ $o 3 B2™ 3
A pa V) a0
: 2z 2 OF =
88 % 53535 °©
1 v H
(2) 1/4" TTW TAPCON DETAIL A @ NN PR
BY OTHERS == EXTERIOR DETAIL A s  |€E83%%
PE:;AALEAT£$ EXTERIOR E & é ‘éﬂ 2 °
BY OTHERS —
w
O.A. UNIT m HORIZONTAL SECTION =
WIDTH \ll/ ASTRAGAL-WELDED TAB o
>
/H\ HORIZONTAL SECTION =
\ll/ JAMB - 1X WOOD BUCK TO CONC/MASONRY
1/2" MIN. 1/4" MAX.

EDGE DISTANCE SHIM SPACE

MMiron
. AMMiron INTERIOR

REVISIONS

DESCRIPTION

MIN. 18 GA. STEEL STUD ==1J;
BY OTHERS
SHEATING L — 1" LENGTH STITCH WELDS
BY OTHERS AROUND KICKPLATE PERIMETER
* X SPACED AT 18" O.C.
3 THREADS MIN.
PENETRATION BEYOND
- DECORATIVE MOULDINGS

STEEL STRUCTURE

zﬂ:ﬂ/ TACK WELDED AT CORNERS

778,

BRACH, BAVD., SUI

@

EXTERIOR

BEACH, FLORIDA

BY OTHERS
PERIMETER PERIMETER CAULK
SEALANT BY OTHERS
BY OTHERS
O.A.UNIT
WIDTH

/T HORIZONTAL SECTION
\ll/ JAMB - STEEL STUD

T 11 oF 15



2/21/2014 12:42 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

2X WOOD BUCK
BY OTHERS

$

3/4" MIN.

1/4" MAX. INTERIOR

EDGE DISTANCE

SHIM SPACE

SEE GLAZING
DETAIL B

11/2" MIN.
EMBEDMENT

(4) #14 WOOD SCREWS

EXTERIOR FINISH
BY OTHERS
PERIMETER

SEALANT
BY OTHERS

"=~ -

N~ - | | S~__-1

(KN

EXTERTOR

O.A. UNIT

WIDTH

HORIZONTAL SECTION

\12/

JAMB - 2X WOOD BUCK

2X WOOD BUCK
BY OTHERS

3/4" MIN.

EDGE DISTANCE

174" MAX.

SHIM SPACE

SEALANT BETWEEN — i

SEE GLAZING
DETAIL B

CONCRETE/MASONRY =

& 2X WOOD BUCK . *w v\

BY OTHERS

CONCRETE/MASONRY
BY OTHERS

- :

11/2" MIN. . os-
EMBEDMENT "+ .

N —

(4) #14 WOOD SCREWS

T EXTERIOR

EXTERIOR FINISH —— oo EXTERIOR
BY OTHERS
PERIMETER
SEALANT
BY OTHERS

O.A. UNIT
WIDTH
/L HORIZONTAL SECTION

\12/

JAMB - 2X WOOD BUCK

ACADIAN

IRON WORKS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

TITLE: GUTSWING WROUGHT
IRON DOOR
HORIZONTAL SECTIONS
{2 BUILDING DROPS, INC.
398 E. DANTA BEACH BLVD. #338
DANIA BEACH, FL 33004
PH: (954)399-8478  FX: (954) 744-4738

PREPARED BY:

INTERIOR

BY | DATE

%)
Z
O
H
V)
H
=
L
(a4

Z
O
E
[a W
—
oL
QO
v
w
/Al

% BEACH, BB, SUI
BEACH, FLORIDA

ORAlng P-E

ET 12 OF 15




2/21/2014 12:42 PM

s:\projects\acadian ironworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

3/4" MIN.
EDGE DISTANCE

2 1/4" MIN. 174" MAX. 2 1/4" MIN. 1/4" MAX.
EDGE DISTANCE SHIM SPACE EDGE DISTANCE SHIM SPACE Aucnélu)lﬁN

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

(2) #14 WOOD SCREW
THROUGH HOLE (C)

(2) 1/4" ITW TAPCON
THROUGH HOLE (B)

- 8w
(2) 1/4" ITW TAPCON I - o8
THROUGH HOLE (B) 8.8 S¥*s 3
SOE " Heg X
=342 wa” ¥
ozegd | ST
§89z8 X3 ¢
SHHES w ¥
0 el I3 9Ty
= o a Z <o 3
3 5 o B2< 3
) W 2322
8 |5 asEE
P g
HORIZONTAL SECTION HORIZONTAL SECTION =
<
2X WOOD BUCK TO CONCRETE/MASONRY 1X WOOD BUCK TO CONCRETE/MASONRY Q
>
3/4" MIN. @
EDGE DISTANCE Tp)
3/4" MIN, 1/4" MAX. Z
EDGE DISTANCE SHIM SPACE @)
[~ 6500" —————] - - " H é
-~ 5500" —— ] (2) #14 WOOD SCREW | H g
- 4000" —=] THROUGH HOLE (A) > &
. ol 3
——| 2500" |=~— (2) #14 WOOD SCREW |2
1.000" THROUGH HOLE (B)

O O O O @\ C
3.500" A
(A) (B) © 2 750" '

o O O O Oz,

— 0250" HORIZONTAL SECTION

(2) 2X WOOD BUCK

778,

BRACH, BAVD., SUI

@

BEACH, FLORIDA

ST 13 OF 15




2/21/2014 12:42 PM

door)\dwgs\aiw003.dwg

nworks\fbc-12-0922 (outswing wrought iron

s:\projects\acadian iro

BILL OF MATERIALS

ACADIAN

IRON WORKS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

TITLE: GUTSWING WROUGHT
IRON DOOR
COMPONENTS
& BILL OF MATERIALS
{2} BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH. FL 33004
PH: (954)399-8478  FX: (954) 744-4738

PREPARED BY:

ITEM NO. DESCRIPTION PART NUMBER MATERIAL MANUFACTURER
1 GLASS PANEL HINGE STEEL NATURAL CHOICES IRONWARE CO., LTD.
2 MOUNTING TAB STEEL NATURAL CHOICES IRONWARE CO., LTD.
3 DOOR PANEL HINGE STEEL NATURAL CHOICES IRONWARE CO., LTD.
4 GLASS PANEL LATCH STEEL & ZINC ALLOY | NATURAL CHOICES IRONWARE CO., LTD.
6 ROLLER CATCH BRASS HANGZHOU YOKING HARDWARE LIMITED
8 T-ASTRAGAL STEEL NATURAL CHOICES IRONWARE CO., LTD.
9 DOOR STILE W/ WEATHER STRIP ACCEPTER STEEL NATURAL CHOICES IRONWARE CO., LTD.
11 DOOR FRAME W/ WEATHER STRIP ACCEPTER STEEL NATURAL CHOICES IRONWARE CO., LTD.
12 GLASS PANEL FRAME STEEL NATURAL CHOICES IRONWARE CO., LTD.
14 STEEL GLAZING CAP STEEL NATURAL CHOICES IRONWARE CO., LTD.
15 WEATHERSTRIP POLYETHYLENE FOAM | HEIBI JTANAN SEALS TECHNOLOGY CO., LTD.
16 GLASS PANEL LATCH RING STEEL NATURAL CHOICES IRONWARE CO., LTD.
17 THRESHOLD STEEL NATURAL CHOICES IRONWARE CO., LTD.
18 SWEEP RUBBER USA WORLDWIDE DOOR COMPONENTS (PINGHU) CO., LTD
19 SURFACE BOLT STEEL NATURAL CHOICES IRONWARE CO., LTD.
20 BOTTOM DOOR STILE W/ SWEEP ACCEPTER STEEL NATURAL CHOICES IRONWARE CO., LTD.
NOTE:

1. ALL STEEL COMPONENTS ARE Q235 GRADE STEEL (Fy min = 34.1 KSI, Fty min = 54.4 KSI)
2. ALL EXPOSED STEEL COMPONENTS ARE SHOP PRIMED.
3. ALL WELDED COMPONENTS ARE SHOP WELDED USING E70XX ELECTRODE

GLASS PANEL HINGE
STEEL

T

0.694" —

@ MOUNTING TAB
STEEL
6.5"
O O O O
3.5"
O O O O

DOOR PANEL HINGE
STEEL

BY | DATE

Z
O
E
[a W
—
oL
QO
v
w
/Al

%)
Z
O
H
V)
H
=
L
(a4

@

2 o
BRACH, BB
BEACH, FLORIDA
SR

ORAlgf;
N

ST 14 OF 15



2/21/2014 12:42 PM

nworks\fbc-12-0922 (outswing wrought iron door)\dwgs\aiw003.dwg

s:\projects\acadian iro

STEEL & ZINC ALLOY

@ GLASS PANEL LATCH

i

DOOR FRAME W/ WEATHER STRIP ACCEPTER

STEEL

0.125"

5.9"

- 2 |

THRESHOLD
STEEL

Li o L—

ROLLER CATCH T-ASTRAGAL
BRASS STEEL

(2 os
—a ] 13 |~

GLASS PANEL FRAME
STEEL

= ‘

— 2"

o]

SURFACE BOLT
STEEL

0.079" —=

0.984" ——I |<—

DOOR STILE W/ WEATHER STRIP ACCEPTER

STEEL

——||=— o0.125"

T
o
_t

I

STEEL GLAZING CAP

STEEL

0.984"

GLASS PANEL LATCH RING

STEEL

I 0.1"

0 | |k

|

1.6"

15"

59"

(=)

WEATHERSTRIP
POLYETHYLENE FOAM

IS o5
——I 11" |=—

SWEEP
RUBBER

Y ras S
o

BOTTOM DOOR STILE W/ DOOR SWEEP ACCEPTER

STEEL

0.125"

TR

A

ACADIAN

IRON WORKS

ACADIAN IRON WORKS

2805 ST. CHARLES AVE.
MONROE, LA 71201

PH: (225) 620-2176  FX: (972)243-5615

TITLE: GUTSWING WROUGHT
IRON DOOR
COMPONENTS
(CONTINUED)

{2} BUILDING DROPS, INC.
398 E. DANIA BEACH BLVD. #338
DANIA BEACH. FL 33004
PH: (954)399-8478  FX: (954) 744-4738

PREPARED BY:

BY | DATE

%)
Z
O
H
V)
H
=
L
(a4

Z
O
E
[a W
—
oL
QO
v
w
/Al

.
.
BRACH, BB
BEACH, FLORIDA

i r@wmz‘/\

*HERMES
ORAlﬂf; P-E

ST 15 OF 15



		2014-02-21T12:38:48-0500
	Hermes F. Norero, P.E.
	I am approving this document




